Osserva l'esempio e completa:

1625

luk + 6h + 2da + 5u

1000 + 600 + 20 + 5

(1 x 1000) + (6 x 100) + (2 x 10) + (5 x 1)

Milleseicentoventicinque

3 638

6 /73

5 429

2 397

4 991

9 356

8 887

Cancella la/le
scomposizione/i

sbagliata/e:

2 567
50+60+7+2000
5h, 7u, 6uk, 2da
5h, 6da, 2uk, 7u

7 359
/uk, 3h, 9u, 5da
300+9+50+7000
7uk, 3h, 5da, 9u

5470
5h, 7da, 4uk, Ou
/da, 4h, Ou, 5uk
0+70+400+500

7 898
8u, 8h, 9da, 7uk
8+80+90+7000
/uk, 8da, 9da, 8u

4 563
4000+50+60+3
4000+60+500+3
4uk, 5h, 6da, 3u

8 934
800+900+30+4
8uk, 3da, 4u, 9h
900+8000+30+4

5 555
Suk, Oh, Oda, Ou
5000+50+5+0
50+500+0+5000
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